PR Received dated 16 May 2016 - 22 May 2016

Offices Supplies & Consumble Parts

Post Dated 23 May 2016

Serial PR No. 2L Item Code PR Line Description PR Qty Unit Buyer Bu_yer EMAIL ADDRESS PR Status S EE
Date site Dated
1 11602015 19-May-2016 CONZZ14155 [NOZZLE FOR PRESSURE SAND FILTER TYPE K1 (THREAD M24) 2,000.00| Set SIRIMUANGKHALA, MR. AEK BSP AekS@ssi-steel.com INCOMPLETE 30-May-2016
2 11603912 19-May-2016 CONZZ29100 [STOPPER-L-SHAPE (100x100, TH=20) FOR HOUSING LOOPER FM 10.00| Each SIRIMUANGKHALA, MR. AEK BSP AekS@ssi-steel.com INCOMPLETE 30-May-2016
3 11603497 16-May-2016 CONZZ29919 :E@'?';E LOCK PIN ADJUST GAP WRAPPER ROLL DC#1,2 (DWG.003848 6.00| Each SIRIMUANGKHALA, MR. AEK BSP AekS@ssi-steel.com INCOMPLETE 30-May-2016
4 11603830 16-May-2016 CONZZ30329 |CAP PLUG (MMDDD004600) FOR HOUSING FILTER AT HYD.TANK FANTUZZI 2.00| Each SIRIMUANGKHALA, MR. AEK BSP AekS@ssi-steel.com INCOMPLETE 30-May-2016
5 11603655 16-May-2016 CONZZ31633 |WATER GUARD WR RM BOTTOM H=150 DWG.RSH2012/03 1.00[ Each SIRIMUANGKHALA, MR. AEK BSP AekS@ssi-steel.com INCOMPLETE 30-May-2016
6 11601986 17-May-2016 CONZZz05708 |[INSULATED CONNECTOR (BLUE) SLEEVE BF2 (1.5-2.5 SQMM) 100.00( Each TEANGTUNG, MRS. CHUTIPA BSP ChutipaT@ssi-steel.com INCOMPLETE 30-May-2016
7 11603808 16-May-2016 CONZZ00848 |LAMP NAV-T-1000W 220V  (OR SON-T 1000,E40/45) 10.00( Each THONGDEE, MR. EKKAPONG BSP EkkapongT@ssi-steel.com INCOMPLETE 30-May-2016
8 11604019 19-May-2016 CONZZ06313 Eﬁ?}fﬁgoﬁogo?rfléag%g:gulups"""" TYPE BHLE 400 L 200 TS FOR 10.00( Each THONGDEE, MR. EKKAPONG BSP EkkapongT@ssi-steel.com INCOMPLETE 30-May-2016
9 11603811 16-May-2016 CONZZ06975 |ELECTRICAL TAPE"YAZAKI" 100.00{ Roll THONGDEE, MR. EKKAPONG BSP EkkapongT@ssi-steel.com INCOMPLETE 30-May-2016
10 11604048 19-May-2016 CONZZ08923  |LAMP HIGH PRESSURESODIUM 220V.400W.E40 (SON) PHILIP 12.00( Each THONGDEE, MR. EKKAPONG BSP EkkapongT@ssi-steel.com INCOMPLETE 30-May-2016
11 11603976 16-May-2016 CONZZ09081 |POWER MALE PLUGS IP44 63A3P+E 380V. H-01-08(2151) 5.00| Each THONGDEE, MR. EKKAPONG BSP EkkapongT@ssi-steel.com INCOMPLETE 30-May-2016
12 11603999 17-May-2016 CONZZ09495 |FREON R-134A 4.00( DRUM THONGDEE, MR. EKKAPONG BSP EkkapongT@ssi-steel.com INCOMPLETE 30-May-2016
13 11604068 19-May-2016 CONZZ14208 [e2hafd 1.2x30 u. 10.00| Roll THONGDEE, MR. EKKAPONG BSP EkkapongT@ssi-steel.com INCOMPLETE 30-May-2016
14 11604046 19-May-2016 CONZZz14667 |IGNATOR TYPE SN58 FOR LAMP HIGH PRESSURE 10.00| Each THONGDEE, MR. EKKAPONG BSP EkkapongT@ssi-steel.com INCOMPLETE 30-May-2016
15 11603820 16-May-2016 CONZZ16883 |CABLE TIES CT 525-8.8 LONG=525MM (21") 100.00( Each THONGDEE, MR. EKKAPONG BSP EkkapongT@ssi-steel.com INCOMPLETE 30-May-2016
16 11604035 19-May-2016 CONZZz28446 |RAIN TIGHT FLEXIBLE =~ CONNECTOR 1" 20.00( Each THONGDEE, MR. EKKAPONG BSP EkkapongT@ssi-steel.com INCOMPLETE 30-May-2016
17 11603832 | 16-May-2016 | CONAZ30074 Q;F;E ﬁl-géooéslzgégggﬁgﬂo':4E7';SSADIAL M789/R157/LM mwuanisifinasainsa 40.00| Each JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 30-May-2016
18 11603948 19-May-2016 CONZZ14641 |WIRE ROPE GRIPS DIA.16 MMFOR ROPE 5/8" ; WITH MAT.CERT. FOR OHC 20.00| Each JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 30-May-2016
19 11603983 17-May-2016 CONZzZ18121 |MORTAR 80-PM (Junulvagfiva  NO.80-PM) 2.00 ImTpoenr;a' JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 30-May-2016
20 11603615 16-May-2016 CONZZ18703  |LIQUID OXYGEN IND BULK 8,096.00 ﬁgg‘;s JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 30-May-2016
21 11604038 19-May-2016 CONZZ20075 \(’\ésgfoziLT'EngEE;N\;VEBBING SLING 2 TON (WLL 2T) LENGTH = 2 M. 2.00| Each JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 30-May-2016
22 11603456 16-May-2016 CONZZ22478 |WIRE ROPE SLING (SPECIAL) DIA.12 x 1070 MM. (DWG.003337) 2.00| Each JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 30-May-2016
23 11603143 17-May-2016 CONZZ24031 |PREMIUM TRANSFER RIBBON PART NO.A102-200-0 20.00| Each JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 30-May-2016
24 11603898 17-May-2016 CONZZ24031 |PREMIUM TRANSFER RIBBON PART NO.A102-200-0 30.00| Each JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 30-May-2016
25 11603455 16-May-2016 CONZZ24034 |VISOCOLOR ECO CHLORINE REF.931015 FOR TEST CHLORINE AT WTP 3.00| Pack JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 30-May-2016
26 11603896 19-May-2016 CONZZz27863 [STICKER PACKING FOR  EXPORT SIZE 4CM x 11CM 3,700.00| Each JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 30-May-2016
27 11603897 19-May-2016 CONZZz27864 |STICKER PACKING FOR  EXPORT SIZE 7.8CMx19.8CM 2,500.00| Each JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 30-May-2016
28 11603990 17-May-2016 CONZZ29196 |[CHEMICAL KURIFIX CP-659 50.00( Kilograms | JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 30-May-2016
29 11603990 17-May-2016 CONZZ29197 |CHEMICAL KURIDYNE M-301 160.00( Kilograms | JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 30-May-2016
30 11603990 17-May-2016 CONZZ29198 [CHEMICAL KURIZET S-2048 1,439.00| Kilograms | JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 30-May-2016
31 11603990 17-May-2016 CONZZ29199 |CHEMICAL KURITA Z-8225 64.00| Kilograms | JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 30-May-2016
32 11603990 17-May-2016 CONZZ29200 |CHEMICAL KURITA S-6600 143.00| Kilograms | JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 30-May-2016

Page 1 of 5




PR Received dated 16 May 2016 - 22 May 2016

Offices Supplies & Consumble Parts

Post Dated 23 May 2016

Serial PR No. 2L Item Code PR Line Description PR Qty Unit Buyer Bu_yer EMAIL ADDRESS PR Status S EE
Date site Dated
33 11604058 17-May-2016 CONZZ31088 PAINT TBL-P150-HCM (MARKING INK WHITE) 100.00| LITRE JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 30-May-2016
34 11604059 19-May-2016 CONZZ31241 |uadaviu (100 wiiv/naav) 4.00[ box JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 30-May-2016
35 11603990 17-May-2016 CONZZ31705 CHEMICAL KURITA NT-743 (20 KG/DRUM) 10.00/ DRUM JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 30-May-2016
36 11604110 18-May-2016 CONZZ31914 LAMP HOLDER FOR T8 FLUORESCENT 2A/250V 250.00 Set JANTHAWEE, MISS JARIYAPORN BSP jariyapornja@ssi-steel.com INCOMPLETE 30-May-2016
37 11604151 19-May-2016 CONAZ06353 GRINDING WHEELS TYPE 27 SPEC A 24 R DIA.100x16x4 mm. (SSM) 300.00 Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 30-May-2016
38 11604060 19-May-2016 CONAZ14714 |GREY CLOTH (snéiu) 1 fduend 10 wes 3.00( Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 30-May-2016
39 11603695 17-May-2016 CONZZz05628 HACKSAW BLADE 18 TPIx12" "ECLIPSE" 15.00 Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 30-May-2016
40 11603938 17-May-2016 CONZZz05939 ABRASIVE PAPER #320 (WATER PROOF) 100.00| PIECES CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 30-May-2016
41 11509493 17-May-2016 CONZZz06030 PAINT BRUSH 2" 40.00 Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 30-May-2016
42 11603696 19-May-2016 CONZZz06032 PAINT BRUSH 4" 29.00 Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 30-May-2016
43 11603940 17-May-2016 CONZZz06032 PAINT BRUSH 4" 11.00 Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 30-May-2016
44 11603415 17-May-2016 CONZZz06148 PAINT BRUSH 3" 84.00 Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 30-May-2016
45 11603941 17-May-2016 CONZZz06400 ABRASIVE COATED NO.80 DIA.100x16 mm.(DISK COAT) 60.00 Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 30-May-2016
46 11603885 17-May-2016 CONZZz06422 CUTOFF WHEELS TYPE 41 SPEC A 30 P SIZE 400x3x25.4 mm. "SSM" 5.00 Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 30-May-2016
47 11603700 16-May-2016 CONZZ06436 ENAMEL PAINT GREEN #605 (3.5 LT.) 21.00( GALLON CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 30-May-2016
48 11603422 19-May-2016 CONZZz06442 ENAMEL PAINT RED-OXIDE (3.785 LT.) 25.00( GALLON CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 30-May-2016
49 11602100 19-May-2016 CONZzZz06451 ENAMEL PAINT YELLOW #303 (3.5 LT.) 14.00( GALLON CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 30-May-2016
50 11603910 19-May-2016 CONZZz06459 SPRAY PAINT WHITE #A 200 (NET CONTENT 400 CC.) 29.00 Can CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 30-May-2016
51 11604119 19-May-2016 CONZZz06463 GRINDING WHEELS TYPE 27 SPEC A24 R SIZE 100x2x16 mm. "SSM" 450.00 Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 30-May-2016
52 11604021 17-May-2016 CONZzz06471 GRINDING WHEELS TYPE 27 SPEC A C 60 SIZE 180x2x22 mm. "SSM" 150.00 Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 30-May-2016
53 11604026 19-May-2016 CONZZz06486 SILICONE SEALANT L6301 "SONY" COLOR:CLEAR 50.00| TUBE CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 30-May-2016
54 11604122 19-May-2016 CONZZ06505 WELDING ELECTRODE DIA.2.6AWSE 308 L-16"GEMINI" 30.00] Kilograms CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 30-May-2016
55 11603810 16-May-2016 CONZZ06700 |TEFLON (10M X 12MM)  (THAI PIPE JORE-TEX) 72.00[ Roll CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 30-May-2016
56 11604024 17-May-2016 CONZZz08594 CUTOFF WHEELS TYPE 41 SPEC A 36 P SIZE 180x2x22 MM. "SSM" 150.00 Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 30-May-2016
57 11603825 16-May-2016 CONZz09702 ELECTRICAL TAPE 3M #33 e 3/4 2 x 66 we 81.00 Roll CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 30-May-2016
58 11603737 16-May-2016 CONZZ12457 GREASE & CHEMICAL PROTECTIVE CLOTHING "MICROGARD 1500 PLUS" 300.00 Set CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 30-May-2016
59 11603736 16-May-2016 CONZZ13923 LOCTITE 495 50.00 Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 30-May-2016
60 11603735 16-May-2016 CONZZ14173 BRONZE WIRE BRUSH 5 1/2" LENGH WOOD HANDLE 32.00 Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 30-May-2016
61 11604045 19-May-2016 CONZZ14715 LIQUID CLEANER (400 ml.) "inenanoidu" 10.00| Bottle CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 30-May-2016
62 11603466 16-May-2016 CONZZz14824 :lIJ-;-EEFE/lgEF;TL\I/EFf"I'I‘_IFCOORN\?EGH?gll_(IET P/N.4 (WHITE COLOR) ""THREE BOND 31.00( TUBE CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 30-May-2016
63 11603464 16-May-2016 CONZzZz15478 WELDING ELECTRODE DIA.2.6GEMINI309L-16 AWSE309L16 80.00] Kilograms CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 30-May-2016
64 11603901 17-May-2016 CONZzZz18363 AIR HOSE ID.3/8"" 400 PSI 200.00| Metres CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 30-May-2016

Page 2 of 5




PR Received dated 16 May 2016 - 22 May 2016

Offices Supplies & Consumble Parts

Post Dated 23 May 2016

Serial PR No. 2L Item Code PR Line Description PR Qty Unit Buyer Bu_yer EMAIL ADDRESS PR Status S EE
Date site Dated
65 11604043 19-May-2016 CONZZ18438 |CONNECTOR PM-40 1/2 "NPT (M) (uaseiiluu) 60.00| PIECES CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 30-May-2016
66 11604042 17-May-2016 CONZZ18507 |BRONZE PAINT No.222  &usaufiia BEN-TONE(5ues 3.5 &ns) 21.00| GALLON CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 30-May-2016
67 11604036 19-May-2016 CONZZz23307 |WELDING ELECTRODE"GEMINI"DIA.4 MM(307 HR-16) 140.00| Kilograms CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 30-May-2016
68 11604107 19-May-2016 STA4006754  |fludiatihduiwds euen 1.00| Each CHUMBOON, MRS. MONTHA BSP MonthaA@ssi-steel.com INCOMPLETE 30-May-2016
69 11603691 16-May-2016 CONAZ13505 |RADIATOR COOLANT&ANTIRUSTDE-CONE(1 PAIL/20 LT.) FOR FAN & KRESS 1.00| Pail SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 30-May-2016
70 11602265 16-May-2016 CONZZ06455 |SPRAY PAINT GRAY # A 300 (NET CONTENT 400 CC.) 23.00[ Can SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 30-May-2016
71 11603824 16-May-2016 CONZZ09445 (F)';AEEN'#S;ZTI 24V DIA.100 MM. MODEL LFK-245-Y FOR OPERATION SAFETY 4.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 30-May-2016
72 11603947 17-May-2016 CONZZ20354 |COPPERCLOD POINT ELECTRODDIA.6.5 mm.x 305 mm. 12.00[  box SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 30-May-2016
73 11603609 16-May-2016 CONZZ21893 |UNION F/F CARB.DIA.1-1/2"11G ( 002708 ) 35.00( Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 30-May-2016
74 11603817 16-May-2016 CONZZ28523 |BATTERY POLE (-) FOR FANTUZZI 10.00( Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 30-May-2016
75 11603727 16-May-2016 CONZZ28864 |CUTTING TIP "HARRIS" 6290 SIZE 2NX (CUTS 25-50 MM STEEL) 24.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 30-May-2016
76 11603728 16-May-2016 CONZZ28865 |CUTTING TIP "HARRIS" 6290 SIZE 3NX (CUTS 50-75 MM STEEL) 12.00( Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 30-May-2016
77 11603729 16-May-2016 CONZZ28866 |CUTTING TIP "HARRIS" 6290 SIZE 4NX (CUTS 75-150 MM STEEL) 12.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 30-May-2016
78 11603918 17-May-2016 CONZZ30099 g\-l\flsh(/?gopos.z P/N 55246-22314 FOR STRUCTURE SYSTEM NISSAN UD 4.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 30-May-2016
79 11603950 17-May-2016 CONZZ30417 |BUSHING RUBBER POS.2 P/N.55542-Z2005 USE FOR NISSAN UD 12.00| Each SAKHAN, MISS PHONNAPAT BSP phonnapatsa@ssi-steel.com INCOMPLETE 30-May-2016
80 11604165 19-May-2016 CONAZ06485 |PROPANE GAS (LPG)=48 KGS 18.00| Bottle PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 30-May-2016
81 11604120 | 19-May-2016 | CONZzZ06484 2?\‘1?’{2;?5 ?LﬁfﬁiLzG%; 15KGS (WORLD GAS)  (dedasil 3u,fiau,il vasau 6.00| Bottle PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 30-May-2016
82 11604023 19-May-2016 CONZZ08487 |ARGON (d9siaefi Ju,ifau,fl wnesau efoaavine ‘Lidu 5 1) 5.00| CYLINDER PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 30-May-2016
83 11604136 19-May-2016 CONZZ09232 |COTTON GLOVE 5,000.00| PAIR PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 30-May-2016
84 11603900 17-May-2016 CONZZ18501 |RUBBER GLOVE PVC SIZE:LL #1230 CM (TOWA 656) 300.00| PAIR PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 30-May-2016
85 11603920 19-May-2016 CONZZ30512 [tihenaeviasin (VIGSAL) zwna 900 ML. 27.00| Bottle PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 30-May-2016
86 11603764 16-May-2016 CONZzZz30522 avuagRFIaUe  24"x28" 30.00( Kilograms PHUENPHA, MISS PITTAYARAT BSP pittayaratph@ssi-steel.com INCOMPLETE 30-May-2016
87 11604065 17-May-2016 STA1000251 ihnnasviauuse  Jmdas 24.00 Each PROMCHAN, MR. SIRICHAI BKK SirichaiPr@ssi-steel.com INCOMPLETE 30-May-2016
88 11604065 17-May-2016 STA1000253  [ihamazviauuds &y 24.00| Each PROMCHAN, MR. SIRICHAI BKK SirichaiPr@ssi-steel.com INCOMPLETE 30-May-2016
89 11604065 17-May-2016 STA1000486  |1hnniindu 100.00| Each PROMCHAN, MR. SIRICHAI BKK SirichaiPr@ssi-steel.com INCOMPLETE 30-May-2016
90 11604065 17-May-2016 STA1000487 |naswaafialaiyg 24.00 Each PROMCHAN, MR. SIRICHAI BKK SirichaiPr@ssi-steel.com INCOMPLETE 30-May-2016
91 11604065 17-May-2016 STA1000488  |1hnnuae 100.00| Each PROMCHAN, MR. SIRICHAI BKK SirichaiPr@ssi-steel.com INCOMPLETE 30-May-2016
92 11604065 17-May-2016 STA1000490  [1hanien 100.00| Each PROMCHAN, MR. SIRICHAI BKK SirichaiPr@ssi-steel.com INCOMPLETE 30-May-2016
93 11604020 19-May-2016 CONZZ06182 |CONDUIT IMC 1" 20.00| PIECES SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 30-May-2016
94 11603984 17-May-2016 CONZZ06509 |ANGLES STEEL JIS G 3192 DIM 50x50x5 mm L=6 Mtr 10.00| PIECES SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 30-May-2016
95 11603984 17-May-2016 CONZZ06511 |ANGLE STEEL JIS G 3192 DIM.75x75x6 MM.L=6 M 10.00| PIECES SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 30-May-2016
96 11604067 18-May-2016 CONZZ06559 |STAINLESS STEEL PLATE DIM.1200x2400x2 mm. 6.00| PIECES SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 30-May-2016

Page 3 of 5




PR Received dated 16 May 2016 - 22 May 2016

Offices Supplies & Consumble Parts

Post Dated 23 May 2016

Serial PR No. 2L Item Code PR Line Description PR Qty Unit Buyer Bu_yer EMAIL ADDRESS PR Status S EE
Date site Dated
97 11604022 19-May-2016 CONZZz06745 FLAT WASHER M10 50.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 30-May-2016
98 11603418 16-May-2016 CONZZz06787 BOLT HEX.HEAD (CLASS 8.8) M12-1.75x50 mm. 90.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 30-May-2016
99 11603588 16-May-2016 CONZZz08009 BOLT HEX.HEAD(CLASS 8.8) M18-2.5x70 mm. 70.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 30-May-2016
100 11603408 16-May-2016 CONZZ08019 BOLT HEX.HEAD + SPRING WASHER + NUT M22x-2.5x240 (CLASS 8.8) 35.00 Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 30-May-2016
101 11603419 16-May-2016 CONZZz08020 BOLT HEX.HEAD (CLASS 8.8)M22-2.5x80 MM 10.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 30-May-2016
102 11603420 16-May-2016 CONZzZz08021 BOLT HEX.HEAD(CLASS 8.8) M22-2.5x120 mm. 20.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 30-May-2016
103 11603414 16-May-2016 CONZzz08058 BOLT&NUT HEX.HEAD M36-4x 200 MM (CLASS 8.8) 27.00 Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 30-May-2016
104 11603585 16-May-2016 CONZzz08118 SOCKET HEAD CAP SCREW M16-2.0x60 mm.#CLASS 12.9 90.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 30-May-2016
105 11604029 19-May-2016 CONZZz08140 SPRING WASHER DIA.8 MM 60.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 30-May-2016
106 11603421 16-May-2016 CONZZz08149 SPRING WASHER M20 200.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 30-May-2016
107 11603619 16-May-2016 CONZZz09465 FLAT HEAD HEX.SOCKET  M20-2.5x80 mm. 280.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 30-May-2016
108 11509738 19-May-2016 CONZZ11559 FLAT HEAD HEX.SOCKET M6-1.0x20 mm.FOR LOAD CAR SKM#1,2 80.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 30-May-2016
109 11603467 16-May-2016 CONZZ14543 BOLT FLANGE HEAD(HEX.) & NUT NYLON INSERT M12-1.25x40 mm. 290.00 Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 30-May-2016
110 11603822 16-May-2016 CONZZ14738 ?XEQS{I}IJOIVISASI;I;IS_?!\INECTOR TUBE OD.8 MM. (1/4 NPT) "BRAND : 180.00 Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 30-May-2016
111 11604067 18-May-2016 CONZZ15324 ANGLES SUS304 DIM 50x50x4 mm L=6 Mtr 7.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 30-May-2016
112 11603463 16-May-2016 CONZZ16419 BOLT HEX.HEAD (CLASS 8.8)M10-1.5x25 mm. 50.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 30-May-2016
113 11604044 19-May-2016 CONZZ16878 FLAT WASHER M10 (STAINLESS) 50.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 30-May-2016
114 11603731 16-May-2016 CONZzZz17524 CK);EISNSG ID212x3.5 NBR (P/N 2666) FOR  AXLE AND WHEEL GROUP OF 1.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 30-May-2016
115 11603459 16-May-2016 CONZZz19037 NYLON INSERT LOCK NUT M22-P = 2.5 MM 40.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 30-May-2016
116 11603613 16-May-2016 CONZzZz20196 SOCKET HEAD CAP SCREW M36-4x140 MM(CLASS 8.8) 15.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 30-May-2016
117 11603818 16-May-2016 CONZZz20539 ggiﬁ{g;;xSLEpigEENg/C\:/T(;)SRs;éJSE"OD16 MM. (3/8 BSPP) WITH O-RING 110.00 Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 30-May-2016
118 11603899 19-May-2016 CONZZ20819 FLEX.HOSE 1/2"x30000MM. SAE100R2AT+FITTING 1.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 30-May-2016
119 11603458 16-May-2016 CONZZ20892 BOLT HEX.HEAD(CLASS 10.9)M20-2.5x45 mm. FOR FANTUZZI 10.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 30-May-2016
120 11603612 16-May-2016 CONZZz21000 gI:SDSiCil(_)TgNUT M33-3.5x470MM. THREAD SOMM (BOTH SIDE) 40.00 Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 30-May-2016
121 11603981 17-May-2016 CONZZz21528 I\S/&ESIE;\IFEHSQB CAP SCREW 1/4%-20x1 1/2" P-016342 .FOR STRAPPING 10.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 30-May-2016
122 11603610 16-May-2016 CONZZ21894 UNION F/F CARB DIA.2" -11G (002709 ) 20.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 30-May-2016
123 11603608 16-May-2016 CONZZz22359 NYLON INSERT LOCK NUT M18-P=2.5 MM 100.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 30-May-2016
124 11509337 16-May-2016 CONZZz22925 INTERNAL RETAINING RING FOR BORE DIA.90 MM 12.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 30-May-2016
125 11603607 16-May-2016 CONZZ23970 LOW HEAD SOCKET CAP SCREW M16-2x30 (CLASS 8.8) 70.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 30-May-2016
126 11603606 16-May-2016 CONZZ24087 FS{(T)LEEIT\I'EL)JTJ’SPRING WASHER M33-3.5x400 HARDNESS 45 HRC (THREAD TO 8.00]  Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 30-May-2016
127 11603450 16-May-2016 CONZzZz28242 BOLT HEX.HEAD&NUT M48-5x160mm.(CLASS 8.8) 4.00 Set SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 30-May-2016
128 11601037 17-May-2016 CONZzz28541 JOBBER DRILLS (HSS) DIN 338DIA.6x93 MM TYPE N 11.00 Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 30-May-2016

Page 4 of 5




PR Received dated 16 May 2016 - 22 May 2016

Offices Supplies & Consumble Parts

Post Dated 23 May 2016

Serial PR No. 2L Item Code PR Line Description PR Qty Unit Buyer Bu_yer EMAIL ADDRESS PR Status S EE
Date site Dated
129 11604034 | 19-May-2016 | CONZZz28592 |NYLON INSERT LOCK NUT ~ M10-P=1.5 (STAINLESS) 100.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 30-May-2016
130 11603605 | 16-May-2016 | CONZZ28643 |NUT HEX.HEAD (CLASS 8.8) M20-P.=2.5 1,000.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 30-May-2016
131 11603445 | 16-May-2016 | CONZZz28878 |NUT HEX.HEAD(CLASS 8.8) M39-P.3 (MAT.SCM 440) 30.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 30-May-2016
132 11603753 | 16-May-2016 | CONZZz28994 EET(I\O/&T?F‘,JTIEEE)ELEMENT ID=125, 0D=130 , W=15 MERKEL B9287-102- 17.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 30-May-2016
133 11603302 | 19-May-2016 | CONZzZz29263 gg;iElTZHEX'HEAD CAP SCREW M24-3x100mm #12.9 FOR PAY OFF 48.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 30-May-2016
134 11603642 | 16-May-2016 | CONZzZz30031 ihAF{TIE:siZE’"r'nEé'_SgLCAKSEST1'\3_28'2'5X100mm'(COUNTERSUNK) 30.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 30-May-2016
135 11603831 | 19-May-2016 | CONZZ30560 |SOCKET HEAD CAP SCREW M48-3x120MM CLASS 12.9 2.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 30-May-2016
136 11603834 | 16-May-2016 | CONZZ31289 |HOLE SAWS FOR STAINLESS STEEL "G-MAN" SIZE 22 MM. 1.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 30-May-2016
137 11601100 | 16-May-2016 | CONZZ31290 |HOLE SAWS FOR STAINLESS STEEL "G-MAN" SIZE 28 MM. 1.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 30-May-2016
138 11603835 | 16-May-2016 | CONZZ31290 |HOLE SAWS FOR STAINLESS STEEL "G-MAN" SIZE 28 MM. 1.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 30-May-2016
139 11603836 | 16-May-2016 | CONZZ31291 |HOLE SAWS FOR STAINLESS STEEL "G-MAN" SIZE 30 MM. 1.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 30-May-2016
140 11603653 | 16-May-2016 | CONZzZz31414 E;IVR:QDMFI;IEEJOEQZ;G_I\IIDIZ)TS'.AENSI/ ASME B1.20.1 MAT:SUS304 SCH.40#SEAM 5.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 30-May-2016
141 11603770 | 16-May-2016 | CONZZ31479 |SOCKET HEAD CAP SCREW M20-2.5x70 MM. CLASS 10.9 (FULL THREAD) 16.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 30-May-2016
142 11507348 | 16-May-2016 | CONZzZz31868 |PIPE HANGER 2" FOR WET SECTION PPPL 5.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 30-May-2016
143 11603989 | 17-May-2016 STA4000476  |STAINLESS STEEL PLATE  DIA.1200x2400x1.2 MM 116.00| Each SRIYA, MR. VARIN BSP varinsr@ssi-steel.com INCOMPLETE 30-May-2016

Page 5 of 5




